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By 3% 4 FI054£08 04 H eI Dt e/ 67 ko (Biir)
fh 4 JE Hh & Wae | %K E=E = A T fE g2y ]
H X k¥ 15. 00 | ¥ 360 5,400 1,404 894 108
X H D iz o= 10. 00 | #H%f 400 4, 000 1,123 927 594
H % o 3. 00| FHxf 93 279 1,642| 1,405| 1,080
5 A [ 1. 00| AHt 260 260 864 739 432
ENIE so0l /A%t 4] 20| 1,944| 1,863| 1,620
A (r— 5. 00 [ FH %} 188 940| 2,160| 1,835 1,080
= 1| 0.50| fxt|  sos| 205  162| 134 97
EN 0.40| #xt| 1,100 a0l 1e2] 48] 76
EEL = 4. 00 | FH%f 713 2,852 1,512 1,102 864
[ I\ O 5. 00| FHxf 504 2,520 1,944 1,572 972
E— %O 0. 15| #Ht 1, 800 273 70 63 49
~7 b~ | AbiEiE 3. 00 [ FHx} 499 1,497 2,160 1,850 1,188
(= AbiEiE 0. 10| FH%f 80 8 173 170 162
H 3 w5 5. 00 [ FHx} 100 500 1,944 1,797 1,404
EenE B[ i3 T 10. 00| AH % 10 100 1, 890
A= 4 AL E 10. 00 | #H5%f 50 500 1,188
£ A L 10. 00| AHxf 905 9,050 1,836| 1,240 972
L&A £ B 10. 00 | #856f 1,180 11,800 1,080 813 540
Y=L F R £ B 4. 00| AH%F 420 1,680 1,998 1,303 864
T AINT EF I 0. 10| #Hx} 1, 100 110 184 120 86
Tayal— E % 4. 00 | FHxF 30 120 2,214| 2,088 1,836
L xon B 4. 00 | FH%f 14 56| 2,484| 2,145| 1,890
AEHEE w5 0. 10| #H%f | 2,550 255 167 119 65
ZDXH E % 0. 20 | FH %} 1, 680 336 78 49 42
LU &k B 0. 20 | FHxf 150 30 76 65 49
AA ha—yv £ B 5. 00| FH%F 445 2,225 1,966 1,500 864
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fh 4 JE Hh = (Mo | E=E e T fE g2y ]

=K w5 10. 00| AHxf 219 2,190| 6,048 5,383| 3,780
Bl X Bk 0. 35| FHxt 180 64 540 418 356
B A — % [ 2. 00| FH%F 30 60| 3,456| 3,168 2,160
= AL 0. 50| A%F 856 428 432 401 389
LR Foak 0. 30| FHxf 380 114 486 453 324
Avara 74Ut | 13.00] fH%E 64 832| 3,380 3,247| 2,808




